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1. i. “Although law is classified in various ways, its purpose is to establish standards
of behaviors to maintain order in the society.”
Do you agree with the above statement? Explain. (11 marks)

ii. Bandara, who was born in Kandy moved his residence to Colombo after finishing
his secondary education. Now he works in the Colombo University as a Technical
officer. Bandara wishes to know the applicability of different laws in Sri Lanka
in the following situations.

Discuss.
a) Bandara wishes to marry under General Law.
b) Bandara wishes to marry a Tamil girl in Jaffna.
c) Bandara wishes to marry a Muslim girl under Muslim law.
(3x3=09 Marks)
2 i. What do you understand by the term “Constitution”? (04 marks)

ii. In which court should legal action be instituted in the following situations?
Give reasons for your answers explaining the relevant court with their

jurisdiction.

a. Chandana is accused of killing his wife, Rekha.

b. Sandamal wishes to-get separated his undivided portion of the co-owned
land. '

-8 Ravindu wishes to quash the decision given against him by the Labour
Tribunal.

d. Amali passed the Promotion Test for the post of Management Assistant of
a State Bank. The bank refuses to give her the appointment as she is
pregnant. ‘

(4 x 4 =16 marks)
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